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o 20074 118 20074 118 (%4) SUE(EE) SHE(FAH) FEEIHEA)
= = = == = Far o [ == | =0 | me | oooed [ 2007+
EH 1,209,212 232,750 12,409,854| 2,450,843 8.7 6.3 2.7 1.6 5.01 5.06
1 == 248,985 39,302] 2,575,675 422,734 76| -33| -05| -7.6 5.66 6.09
2 o|= 142,055 29,611 1,603,073 324,914  -11.2 6.6| -13.0 -2.9 5.50 4.93
3 H| £ & 115,592 17,859 977,326| 140,085 55.7| 69.8| 26.5| 22.1 6.73 6.98
4 32 80,575 11,842 829,019 129,494 -0.9| -3.7 6.1 5.1 6.34 6.40
5 el 1| Alo} 69,389 9,234 700,189 100,300 14.5 5.9 5.2 3.6 6.88 6.98
6 Uz 52,889 8,666 597,139 89,450 -7.3| -62| -51| -1.9 6.90 6.68
7 |otetolojz|E gt 40,258 7,163 347,858 61,216 249 454 11.7| 153 5.87 5.68
8 | AbRClotzid|ot 21,073 3,682 250,754 43,068 8.1 9.7 5.3 6.0 5.86 5.82
9 = 21,822 4,206 250,075 57,777 6.7 -27| 255| 19.3 4.12 4.33
10 E{7| 24,087 3,874 249,206 45,679 25.8 -0.7| 18.0| -4.4 4.42 5.46
11 e|m 23,968 4,794 228,520 47,979 30.7 17.8| -15.0| -2.1 5.49 4.76
12 s 16,804 2,447 181,555 27,430 -1.8| -3.5| -26.3| -31.0 6.20 6.62
13 =apd 18,660 3,818 176,939 39,845 329 219| 525| 29.4 3.77 4.44
14 ZYA 13,618 1,460 168,859 20,455 14.3 3.7| 404 383 8.14 8.25
15 JECe 13,751 2,860 157,785 36,144 3.9| -9.8| 147| 171 4.46 4.37
16 Zte oot 15,180 5,943 150,466 58,463 15.9 1.0] 36.7| 113 2.10 2.57
17 o= 11,849 3,066 144,886 39,324 -6.0| -240| 12.0| 126 3.70 3.68
18 Ef = 11,804 2,745 137,938 30,367, 1.8 4.1 2.9 9.7 4.85 4.54
19 2{Alof od gt 12,864 2,790 135,979 40,221 -11.0| -37.3 40| -6.5 3.04 3.38
20 AT 2l 16,410 3,269 126,605 31,079 44.7 8.4| 248 7.1 3.50 4.07
21 WAl 2 10,415 2,213 119,742 30,310 11.2| -13.8 40| -1.8 3.73 3.95
22 elc|ok(el ) 10,662 4,227 112,178 45,798 21.7 125| -1.2| -7.0 2.31 2.45
23 gt 2e] Al 10,981 1,799 111,457 18,000 21.3| 57.5| -12.1] -10.2 6.33 6.19
24 cH g 11,405 2,620 110,357 25,178 -3.6| -51| -17.0| -23.1 4.06 4.38
25 Fhetct 9,436 1,840 107,983 21,848 -25.2| -20.4| -10.8| -15.5 4.68 4.94




118 2 MBE $AMX

Chelt M2, &, %, $/kg

- 251 20074 11 2007 11 (*FH) SHE(EE) SHECA) A HEA)
= = = s = s = s | 20064 | 20074
S 819,325| 134,876] 8,264,492 | 1,341,511 7.9 18] 116| 5.1 5.80 6.16
1 il 531,005 84,952l 5,236,047 793,974 3.1 22| 155| 9.2 6.23 6.59
2 o| | of 32,900 629 469,379 6,888 | 11.7| -20.9 8.2| -23.3| 48.28 | 68.14
3 o= 36,792 5,633 392,889 57,056 | 13.4| 17.8 26| 6.1 7.12 6.89
4 el = Alo} 20,145 6,343 247,634 84,066 0.5| -10.0 63| 4.6 2.90 2.95
5 H E & 26,619 7,173 235,660 69,710 | 27.3| 26.3| 344| 294 3.25 3.38
6 o= 22,860 2,905 227,400 27,295 | 32.7| 40.2| 120| 187 8.82 8.33
7 ) 19,055 5,984 226,540 71,945 | -248| -29.5| -14.6| -16.9 3.07 3.15
8 ch ok 11,128 4,196 145,249 62,710 | -8.5| -23.8 0.0 -4.1 2.22 2.32
9 Ef = 8,393 1,810 103,425 25518 | -6.9| -15.0| -10.8| -9.4 4.12 4.05
10 7| A g 9,388 4,193 96,902 43,885 | -59| -9.0] -132| -156 2.15 2.21
11 A 7,251 145 87,418 1,317 | -133| 37.3| -156| 53| 8280 | 66.36
12 5 7,250 563 74,025 6,482 | 37.5| 27.8 9.7| 41| 1084 | 11.42
13 o= 6,233 405 66,598 5846 | -13.3| -37.7| -11.0| -33.3 8.54 | 11.39
14 2AEz|of 7,327 2,493 64,121 22,383 | 543| 369| 21.8| 17.4 2.76 2.86
15 g3 4,341 132 52,993 1,724 | -24.3| -16.8| -17.9| -22.7| 28.96 | 30.75
16 23| o] x| o} 3,741 1,059 43,047 12,510 | -24.0| -34.3 2.0| -12.8 2.94 3.44
17 B 7| 2,706 186 38,343 2,468 | 90.4| 46.0 85| 50| 1503 | 1553
18 Hgzt= 2,818 180 35,281 2,488 | -11.1| -28.7 51| 102 1488 | 14.18
19 o] okt 2,076 189 29,570 2,546 | -16.4| -31.5| 72.4| 659| 1118 | 11.61
20 Fhtet 3,126 535 27,200 4,416 | 455| 99.3 54| 10.2 6.44 6.16
21 da|g 2,315 336 27,143 2,437 | 129.6| 196.8| 75.0| 752 1115 | 11.14
22 A= 1,692 52 22,121 1,091 6.1| -56.9| 228]| -15.2|] 14.01 | 20.28
23 AQA 1,609 20 20,815 329 55| -26.4| -05| -47.1| 3368 | 63.35
24 SF 1,154 93 17,388 1,669 | -32.0 -271| 11.6| 14.8| 11.39 | 11.08
25 A 2l 1,088 47 17,139 927 | -53.2| -70.5| -29.4| -53.4| 1220 | 18.48




